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QUESTION 1

In which pan of a business scenario are business capabilities and value streams modelled?

A. When identifying and documenting desired outcomes

B. When identifying the business and technology environment

C. When identifying the human actors

D. When identifying, documenting and ranking the problem

Correct Answer: B

Explanation: This answer is based on the TOGAF Standard, Version 9.2 - Business Scenarios , which states that "The
business and technology environment is a description of the current situation in terms of business processes (including
business capabilities), people (including skills), information (including data), applications (including software),
infrastructure (including hardware), and governance (including standards)." Business capabilities and value streams are
modeled when identifying the business and technology environment, as they provide a high-level view of what the

business does or can do, and how it delivers value to its stakeholders. The other options are not correct, as they are not
parts of a business scenario where business capabilities and value streams are modeled.

QUESTION 2

Compete the sentence. An objective of Phase B is to identify candidate architectureRoadmap components based
upon

A. the Architecture Requirements Impact Assessment

B. the Architecture Vision created in Phase

C. gaps between the Baseline and Target Business Architectures

D. a cross-mapping of Value Stream Stages to Business Capabilities

Correct Answer: C

Explanation: This answer is based on the TOGAF Standard, Version 9.2 - Phase B:

Business Architecture , which states that "The objective here is to identify candidate Architecture Roadmap components
based upon gaps between the Baseline and Target Business Architectures.” The Architecture Roadmap is a document

that outlines the work packages, projects, and programs required to implement the target architecture. The gaps
between the Baseline and Target Business Architectures are the differences or deficiencies in the current and future
states of

the business that need to be addressed by the architecture project. The other options are not correct, as they are not
the basis for identifying candidate Architecture Roadmap components.

QUESTION 3
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Complete the sentence. A business capability is

A. an ability that a business possesses to achieve a specific outcome

B. a description of the architectural approach to realize a particular business solution

C. a representation of an end-to-end collection of business activities

D. a qualitative statement of intent that should be met by the business architecture

Correct Answer: A

Explanation: This answer is based on the definition of a business capability as "an ability that a business possesses to
achieve a specific outcome" 1. A business capability is an elemental building block of what a business does or can do 3.
It is an abstraction of the underlying functionality and flows expressed as a noun form 3. A business capability is not a

description of the architectural approach, a representation of the end-to-end activities, or a qualitative statement of
intent, which are different concepts in business analysis or architecture.

QUESTION 4

In ufliai ADM Phase floes the detailed assessment ot business capability gaps occur?
A. Preliminary Phase

B. Phase A

C. Phase C

D. Phase B

Correct Answer: D

Explanation: This answer is based on the TOGAF Standard, Version 9.2 - Phase A:

Architecture Vision 3, which states that "The detailed assessment of business capability gaps belongs in Phase B as a
core aspect of the Business Architecture, where the architect can help the enterprise understand gaps throughout the

business, of many types, that need to be addressed in later phases of the architecture.” Therefore, Phase B is where
the detailed assessment of business capability gaps occurs. The other phases are not correct for this purpose.

QUESTION 5

Consider the following extract of a model showing relationships between Business Architecture concepts:
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|“ Value Stage l

Value

What is the relationship labeled Y?

A. Consists of

B. Receives

C. Enables

D. Creates

Correct Answer: C

Explanation: This answer is based on the definition of the enables relationship in the ArchiMate 3.1 Specification 1,
which states that "An enabling relationship describes how an element (e.g., a node, device, or system software) enables
another element (e.g., a business process, service, or function) to function." In this case, the value stream stage
enables the business capability to function, as it provides the necessary inputs, outputs, and resources for the capability

to deliver value. The other options are not correct, as they do not describe the relationship between a value stream
stage and a business capability.
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